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QUESTION 1

A company is installing Maximo and will be configuring WebSphere on a remote server. They are able to login to the
WebSphere console from the installing workstation, but installation fails with an error that the WebSphere server cannot
be reached.

What could be a possible cause of the error?

A. Remote access has not been enabled on the server running WebSphere.

B. The server running WebSphere does not have a fully-qualified domain name.

C. The server running WebSphere is on a different network subnet than the installing workstation.

D. The installing workstation is running a different operating system than the server running WebSphere.

Correct Answer: A

QUESTION 2

An administrator has decided to set the system property mxe.db.fetchResultLogLimit.

What does this property do?

A. Generates mbo counts in the log file.

B. Generates exceptions in the log for error conditions.

C. Generates an exception in the log for too many objects in memory.

D. Generates an exception in the log for the specified number of objects in a single mbo set.

Correct Answer: A

QUESTION 3

A user belongs to two independent security groups both granting full access to the Asset application for all Sites. One of
the security groups also has an Obiject restriction configured as shown below.
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Which statement is correct?

A. The user will only see Assets of Type IT.

B. The user is restricted from seeing Assets of Type IT.

C. The user\\'s permissions will be based on the highest ranked security group.

D. The user will be granted the highest permission possible and will see all Assets.

Correct Answer: C

QUESTION 4

A company has configured several application servers to handle specific tasks using Ul cluster, Cron cluster and
Integration cluster. A requirement is that certain Cron tasks do not run on the Ul cluster and the Integration cluster.

What is one way to accomplished this?

A. Add mxe.crontask.skip=[crontask name] to maximo properties file.

B. Add mxe.crontask.donotrun=[crontask hame] to maximo properties file.

C. Add mxe.crontask.donotrun=[crontask name] to the crontask.properties file.

D. On System Configuration -> Cron Task Setup, Select Action -> Reload Request, then uncheck "Run".

Correct Answer: D

QUESTION 5

An administrator has created an index on the WORKORDER table while connected to the database using a database
administrator tool and noticed the index is not visible in the Database Configuration application. What must be done to
correct the problem?

A. Run the Update Statistics action from within the Database Configuration application.

B. Run the Refresh Index Tables action from within the Database Configuration application.
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C. Delete the index from the database and recreate it using the Index Configuration application.

D. Create the same index manually from within the Database Configuration application to match the index created in the
database.

Correct Answer: A
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